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�� ا��
	ر�� ���� � ��g 10N kg/=  
 �����1   

 	
�� �����A  ����آ ، 	����m 2kg= ر��

*� �� أن ���' %�ا&� %$��#" !�  ا��Oz
�

� ا+!�   �� ���
ا�
 ��
  . و%.رج ,	�

1  	2,��" أ���zــ ���� آ�	�" %����" � 2=  . 4�5�� "��	��ا&� ا��	��"  Aأ:�9 8	7" ا��&� ا�6
  : !;. ا�
 

1Az و  =6
2Az 4= −  

�" ذات ا+���ب  2�z: ــ ���� آ�	�" %����" ا�; 1= − . 4�5�� "��	��ا Aأ:�9 8	7" ا��&� ا�6
&� !;. ا�
  : ا��	��" 

A1 A2 A3z 6 z 4 z 9, ,= = − =  

 �����2   
 A�6% 	;���AHB  �� "او�B�4 اC	7H ��D�واAH ��  . أ��F ا�E*' . أ�

 �D�AB a=  و�BAH = α  .  
�� آ���� ���� 4m  �! "آ�: ��AB  . �*��M 4�5�ا �&�%

,AM��A أن  d= .  
 "�G., 4�5�� "��	�gأ!����H I 8	7" ا��&� ا�6 a d m, , , ,α  ر	��ا� .;!

�
�	7" ا��&� ا�6�	��" ه� ا��	�" ا�� "��� :  
1  "��   Hــ ا�;
2  "��  Bــ ا�;
3  "��  Aــ ا�;

 �����3   
mآ�ة آ���2	  20g=  	2!	�MوR 10cm=  قGBج ,.ون ا��:.�H  �!

�ى %	B, 'Cاو�" ��%30α = °  ���ى ا+���
�� "��;�	, .  
1  B5;H 	%.;! ة�*�� "��	��ر ا��ي �
� %� %�آB ( دورات :�ل �#�2	  6ــ أ:���PH 9 8	7" ا��&� ا�6�
�ل ا�:

 	2��V (  
  ــ ه' ��PH 8	7" ا��&� ا�6�	��" ��*�ة  2

  �.ورات ا�
;B5ة %� 2��8	 ؟ ـــ دا�" XH�#�" ,	�;��" ��.د ا
 �%B�� "��;�	, "�#�XH "�ـــ داt  لZ� ق�P��
  ؟ . :�آ�2	ا�

 �����4   
 �% "��*

�6" �� ا�E*' �	��� وا�
�!" ا�
5
  : ����� ا�

�M ، r	!2	 ∆,[%*	�2	 ا�.وران :�ل %��ر أ��� V	,\  (P),*�ة ــ  5cm= 
�ر   ∆Jو!Bم 7^�ره	 �
�� "��;�	,∆   

)��I ــ   )f  ل %�5ى ا��*�ة��ف :#�% . "�
 ــ �������a b %.ود وآ���� 2%

 4��( )S  ����آm 0 5kg,=  ى��ع !�  %��&�%( )π  "او�B, 'C	%

30α = °  ���ى ا+���
�� "��;�	, I�$�� ���ف ا���	, I�H�%و( )f .  

��d ا�4�5 �S  "!�f ون., 'C	
�ى ا���
�" !�  ا��%� أ!�  �
 "�C., .�:�آ" ا ���ك و��	*�4 ,.ون ا:�H 'C	
�ى ا���
  . 4�5 !�  ا�
1  �����4 ����f h!" ا�4�5 !;. %�ورb %� ا�;CZ% ز	2� "�fا� Aــ ,
�AV;5. أن  Bو  0 5m s, BVو  =/ 2 5m s, /=  "�	�
ABوا� 62 5cm,=  

���d %��ه;" ا��	7" ا���آ�" أو�. ��H 1ــ  1�, 'PE�ا ��( )
A B
W F
→

�
 ،F
�
�2	 ا�$�I !�  ا�4�5  ���ة ا��� ��ا�

S  .  

)أ:�9  2ــ  1 )
A B
W F
→

�
�ة �Fواf�;�M k.ة ا�
�
  .  

�ر  2^�)���*�ة  ∆Jــ 5�l	د �7
" !Bم ا� )P  ر��
�م ,	�.راf" ا������5" ا��	��"  ∆,	�;��" ���� : ���� 	%.;!

 "�	�
  .  H∆θ.ور ا��*�ة ,Bاو�"  ABا�4�5 ا�
  .  ABو ا�
�	�"  θ∆أو�. ا��7Z" ,�� ا�Bاو�"  1ــ  2
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���d %��ه;" ا��	7" !�  ا��*�ة  2ــ  2�,( )P  أن ��,
2

2 2
B A

2 F AB r
J

V V

. . .
∆ =

−
  .  ∆Jأ:�9 .  

�ى ا�
	BC  'Cا�B5ء  ــ �� ا��ا�7 أن 3��
H�, 4	G:�*	ك  !�  ه�ا ا�B5ء:�آ" ا�4�5 أي أن  ��E %� ا�
�o7 ا� 4�5��;� A�k !� ه,H ت	آ	*�:Gا b�S  "��) C!;. ا�; )CV 0=   

�ى ا+��� ا�
	ر %�  ������
ppEآ�	�" %����" ��	7" ا��&� ا�6�	��" :�A  Aا� 0=   

  . ,	!��	ر ه�b ا��	�" ا�
����"  S��4�5  أ!����H I 8	7" ا��&� ا�6�	��" 1ــ  3
  . H���d ,	��	�" ا�
����" ا�
$�	رة  C Gو  ��PHB 8	7" ا��&� ا�6�	��" ,��  ,�� أن 2ــ  3
 . وا:�9 �7
��  . Cإ�   S  �%Bأو�. ��PH ا��	7" ا�
�*	��*�" !;. ا���	ل ا�4�5  3ــ  3

 ����BC=100cm  
�	ل  اf�;�4kــ  3��Gء ا	;Vارة أ�: '*M  �! دة��#
  . BCا��	7" ا�
�7
" M. 5ــ  3 k�;�fء اB5�ل ه�ا اZ� "�,	V 	ه����� ��ك ا�	*�:Gة ا�   . ة 7

 �����5   
 	2�
�ي :��;" f. !�  آ
�" %� ا�
	ء !��H15m  	2��f ":	�%21و 5km,.  

�ر آ
�" ا�
	ء ���. !�  ارH#	ع ^7 Bآ�%h 2000m=  ����ا w�f �% .  
.��H  ع	#Hا��. و!�  ار �% ",��%  �! "�C	,�2ه�.روآ "��%h 1200m′ �w ا����  =f �%
 4�Hو"��PH  "�C	,�2*�7" ا	�
	ء ا��. �l�	ج ا�, "��
  . ا�
  . ــ أ:�9 8	7" ا��&� ا�6�	��" ا�
$Bو�" �� %	ء ا��. ,�. ا���	ر :	�" %����"  1
2 �	��دة ,	��. B;Hل ,*	%�2	 ــ أ:���PH 9 8	7" ا��&� ا�6��
�" إذا ا!����	 أن آ��" ا�
	ء ا�

���. ا�*�2,	ء H "�  . إ�  %�
310mــ أ:�9 ا��.رة ا�*,�2	�C" ا�
�^' !��2	 ,	�% 9��^� "��;	�C ��	وي  3 s( / إذا . (

�ل إ%75ا!����	 أن ��H ء	
  . �  8	7" آ,�2	�C" %� ا��	7" ا�
$Bو�" �� ا�

 ���� :3 3
eau 10 kg m/ρ gو  = 10N kg/=  

 �����6   
)7	,�" ��.وران ، ,.ون ا:�*	ك ، :�ل %��ر 1m=ℓو8��2	  fm	ق %�5	��" آ���2	  
� %� أ:. ∆(� ��أ�

�ر !Bم 7^�ر ا��	ق ,. 2���8	 �
�� "��;�	( )∆ �21: ه
J m

3∆ = ℓ  .  

�B� "او�B, �fا��أ ����
�از�2	 ا�H �&�w60θ ا��	ق !� % = °  ���� "�C., "!�f ,.ون 	ره��4 �VppE 0= 

 .;!z 0=  .  

� أ:�9 ا�H 	%.;! ق	ر ا���^7 Bآ�
��!" ا�Bاو�" �

 ����
�از�� ا�H �&�% �% . "�	��� M.ة ا�6��
g 10N kg/=  

 �����7   

	 ��Pxا آ���� �� �����m 0 5kg,=  ق�� '��;�

4 8���  ABCD%.ار ���ن %� �Bء %��*��
AB 2m=  ي�Cء داB� �%و ،BCD  �!	�M
r 0 5m,=  . ����60θ = °  .  

��d ا�4�5 �( )S  "��  . ,.ون A  "�C., "!�f%� ا�;

1  "�
  . ــ ����� اG:�*	آ	ت 2%
��  S*	��*�" ��4�5 أو�. ����H ا��	7" ا�
� 1ــ  1

 �&�
A  "�G.,mا� r, ,θ  وg  "�	�أ:�M . 9.ة ا�6

( )mE A  . ����g 10N kg/=  

�&�  Sأ:�9 8	7" ا��&� ا�6�	��" وا��	7" ا���آ�" ��4�5  2ــ  1
  .  ��B ا�
�&�  �fS!" ــ أ:�9  3
��� إ�  ا�xو .;!D  .  
�&�  Sــ �� ا��ا�f �7!" ا�4�5  2
�H4	وي  �7B ا� 00m s, /  "z�	*% 	ه����� ��ك ا�	*�:Gى ا�7 "5���

�ة ��f
�


;�  :�آ" ا�4�5 � hآ	%� 	ه	�و%; "�,	VS  .  
�دة !�  M*'  1ــ  2�#
�	ل أ:�9 ا��	7" ا���Gء ا	;Vارة أ�:AB   
�ة  2ــ  2�fأ:�M 9.ة ا�

�
  .  


